107}

1072

107

107
1.2

1.1

Ratio
=

0.9
085

LU

[ pull of @parameter

107}

1072

1073

10

L.z

1.1

Ratio
N

0.9

¢¢ *SN'WHU “0"‘ :*N‘M *1

"":""ll R LRY AT £ R RN C 'l‘."l'
i +.A"? ! t :

08

=

Do ie o tert e
086 4 20 2 4 6 810

[ pull of dxy parameter

107}

1072

107

Ratio

. 0.004.
D |eisen %g;%

..........................

—'6—420246810

Ratio
P
N

[ pull of goverp parameter |

Ratio

—10—8—6—4 20 2 4 6 810

1072

1073

10

L.z

Ratio

o
©

I T T
.L0—8 6—4—20 2 4 6 8 10

[ pull of dz parameter

[y

o
00

T T e A= B R B S



	Contents
	Page 1


